Ayl i 5o g BV ARA e
4231 Al gy pgSI G¥ gl | ¥ gl 9 poluad! ylclt SYT Al S Do g OUT

e

Re=R AR =+ svo+e sy=+ 2 Y0L) Xeg=X X0 = svo+e Y=+ +T0
Z=R/[1X;=0++//Jvo-
The voltage V.=¥- -+ V; thus

vi= Ny o 2ooo(ﬂ) = 400V

N, 2000

The current [ =KVA*\.7/V =a-*y.7/vy...=t0 A
N (2000

| =—=1, = —)45=225A
N 400

The power factor=- A lagging

|! =225/ -36.87°

V=V A (RegH1Xe,)
=400£0+225/—-36.87°(0.025+ J0.065)
=400£0+225/-36.87°*0.07£68.96°
=400£0+15.75/32.1°

V, =400+13.34+J8.37 =413.34+ J8.37 =413.42/1.16V

, _500*J150 _ 75000£90°

° 500+ J150 522/16.7°
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I, = |2' +1, = 225/ -36.87° +2.88/4—-73.3°
=180-J135+0.83-J2.76 =180.83-J137.83=22737/-37.31°A
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=143.7£73.3°Q

Transformer operation Jsal| Jiddn- ¢
No load operation Jos Ul sic Jomd| Judds V- = ¢
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